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e :
\Clrcumference of a Circle )

C=nxd C=2xnxr

d=10cm r=5cm

w=3.14 w=3.14
3.14x10cm=31.4cm 2x3.14x5cm=31.4cm

Find the circumference of each circle. Use 3.14 for pi.
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Find the missing measurement for each circle.
g. r=3mm,d=6mm, C= h. »=10in.,d= , C=62280in.

i. 7= ,d=5m, C=1570m jo r=2ft d= ,C=
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ANSWER KEY

N

e :
\Clrcumference of a Circle )

C=nxd C=2xnxr

d=10cm r=5cm

n=3.14 w=3.14

3.14x10cm =31.4cm 2x3.14x5cm=31.4cm

Find the circumference of each circle. Use 3.14 for pi.

a. 7 O\ b. 2 0\ c. 710\
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